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1.  Flask shaped ulcers are related to :
(a) Entamoeba gingivalis (b) Giardia intestinalis
(c) Entamoeba histolytica (d) None of these

2.  Posterior paralysis in horses is due to :
(a) Babesiaequi (b) Babesiacaballi  (c) Babesia bigemina (d) Babesia major

3.  The term Xenodiagnosis is associated with :
(a) Chaga’s disease (b) Sleeping sickness
(c) (a)and (b) both (d) None of these

4. Punched out necrotic ulcers in abomasum of cattle are seen in :
(a) Babesiosis (b) Anaplasmosis (c) Theileriosis (d) Coccidiosis

5.  Which parasite is responsible for Vitamin B12 deficiency ?
(a) Diphyllobothrium latum (b) Echinococcus vogeli
(c) Echinococcus multilocularis (d) None of these

6. The infections transmitted to man from lower vertebrates are termed as

(a) Zooanthroponoses (b) Anthropozoonoses
(c) Amphixenoses (d) None of these

7.  ‘Slime balls’ is related to the life cycle of
(a) Dicrocoelium dendriticum (b) Eurytrema pancreaticum
(c) Both (a) and (b) (d) None of these

8.  Eggs in urine are detected for confirmation of which blood fluke ?
(a) Schistosoma spindale (b) Schistosoma haematobium
(c) Schistosoma incognitum (d) Schistosoma nasalis

9.  Marrasa syndrome is associated with which of the following parasites ?

(a) Linguatula Serrata (b) Anaplasma marginale
(c) Both (a) and (b) (d) None of these
10. Dose of Buparvaquone (Butalex) for the treatment of theileriosis in cattle is :
(a) 2.5 mg/kg B.wt. (b) 5.0 mg/kg B.wt.
(c) 10.0 mg/kg B.wt. (d) 15.0 mg/kg B.wt.
11.  ‘Surra’ in horses is transmitted by :
(a) Lice (b) Ticks
(c) Fleas (d) Haematophagus flies
12. Which of the following is responsible for blindness in poultry ?
(a) Tunga penetrans (b) Pulex irritans
(c) Ctenocephalides canis (d) Echidnophaga gallinacea

13. Septic thrombus must contain :
(a) Virus (b) Bacteria (c) Parasite (d) Fungi

14. Pyknosis is one of the following process of chromatin material :
(a) Fragmentation (b) Dissolution (¢) Condensation (d) Lysis
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One of the following cells is considered as hallmark of granulomatous inflammation :
(a) Lymphocytic cells (b) Epithelial cells

(c) Epitheliod cells (d) Neutrophilic cells

Type-I hypersensitivity is mediated by one of the following antibodies :

(a) IgA (b) IgG (c) IgM (d) IgE
Apoptosis is single cell death without any one of the following reactions :

(a) Inflammatory (b) Immune/Infectious agent

(c) Circulatory (d) Oncogenic

Eosinophilia occurs in one of the following infections :

(a) Virus (b) Bacteria (c¢) Fungus (d) Parasite
Rhinosporidiosis is characterized by one of the following lesions :

(a) Nasal granuloma (b) Nasal polyps

(c) Nasal ulcers (d) Nasal abscess

Aflatoxin can cause one of the following conditions in animals
(a) Immunopotentiation (b) Immunostimulation
(¢) Immunosuppression (d) Immunotolerence

Cysticercosis is also known as :
(a) Nodular worm (b) Bladder worm (¢) Guinea worm (d) Heartworm

Copper deficiency may lead to one of the following diseases in animals :
(a) Pica (b) Ataxia (c) Ketosis (d) Grass staggers

Blind staggers occur due to poisoning of one of the following in animals :
(a) Copper (b) Oxalates (c) Cadmium (d) Selenium

Osteopetrosis is caused by one of the following viruses :
(a) Reovirus (b) Adenovirus (c) Retrovirus (d) Pneumovirus

Pasty vent in grower poultry is caused by :
(a) Rhinovirus (b) Togavirus (¢) Reovirus (d) Orbivirus

Decrease in number of all components of leucocytes is known as :
(a) Leucopenia (b) Neutropenia (c) Lymphopenia (d) Pan-leucopenia

Postmortem examination of a sheep is done by placing carcass on one of the following
recumbency :
(a) Right (b) Left (c) Dorsal (d) Ventral

Serum samples from aborted cattle should be collected after one of the following duration
of abortion for Brucellosis testing :

(a) One week (b) Two weeks (c) Three weeks (d) Three months
Myoglobin in urine is detected in :
(a) Strangles (b) Glanders

(c) Azoturia (d) Equine infectious anaemia
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Kyasanur forest disease is caused by :
(a) Flavivirus (b) Reovirus (c) Orbivirus (d) Rotavirus

Wooden tongue is seen in one of the following diseases in cattle :
(a) Actinomycosis (b) Actinobacillosis (c) Campylobacteriosis  (d) Pasteurollosis

Salpingitis is the inflammation of
(a) Ovary (b) Oviduct (c) Uterus (d) Ureter

One of the best techniques to identify the species of animal in meat sample is :
(a) Gel diffusion (b) Staining technique (¢) PCR (d) Histopathology

Which one of the following is a food borne intoxication ?
(a) Botulism (b) Anthrax (c) Brucellosis (d) Tuberculosis

Human is dead end host for which of the following zoonosis ?
(a) Westnile virus (b) Hepatitis virus (c) Adeno virus (d) Rota virus

In which year, Rinderpest disease was declared as eradicated from India ?
(a) 2003 (b) 2004 (c) 2005 (d) 2006

OIE is renamed as :

(a) World Organization for Veterinary Health
(b) World Organization for Population Health
(c) World Organization for Animal Health
(d) Not yet renamed

India’s first indigenous homologous line-attenuated Lumpy Skin Disease (LSD) vaccine was
made by using a local LSD virus stain from :

(a) Delhi (b) Hisar (¢) Ranchi (d) Bareilly
Pigs are intermediate host of :

(a) Taenia Solium (b) Schitosoma Mansosni

(c) Taenia Sominata (d) All of these

One person can import how many dogs at a time subject to production of required health
cerificate from country of origin :

(a) One (b) Two (c) Ten (d) Hundred

Case fatality rate is total number of death due to a particular disease divided by total number
of cases due to same disease multiplied by :

(a) 10 (b) 100 (c) 1000 (d) 10000

Pandemic is a disease that occurs in :
(a) One district (b) One state (c) One country (d) All continents

Disease that occurs in a population with a usual or expected rate is :
(a) Epidemic (b) Endemic (c) Pandemic (d) Sporadic
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An infectious disease transmissible under natural conditions between vertebrate animals and
man is called :

(a) Epornithic (b) Exotic (¢) Opportunistic (d) Zoonosis
Nosocomial infection is :

(a) Village acquired (b) District acquired

(c) Hospital acquired (d) Home acquired

Dracunculiasis is caused by :

(a) Bacteria (b) Virus (c) Fungus (d) Parasite
Which of the following can be used for bioterrorism ?

(a) Anthrax spores (b) Mastitis pathogens

(c) F.M.D. virus (d) Vesicular stomatitis virus

What concentration of ethyl or isopropyl alcohol has maximum germicidal action ?

(a) 35% (b) 50% (c) 70% (d) 100%
Which gas is used for sterilization of heat sensitive instruments ?

(a) CO, (b) N,O (c) Ethylene dioxide (d) Helium
Lembert’s and Cushing’s suture patterns are used for closure of :

(a) Visceral organs (b) Peritonium (c) Skeletal muscles (d) Skin
Profound amnesia, superficial analgesia and ketalepsy are characteristics of :
(a) Ketamine anaesthesia (b) Thiopentone anaesthesia

(c) Propofol anaesthesia (d) Nuerolept analgesia

Wave length range of diagnostic X-rays is :
(a) 1-10 A (b) 0.1-0.5 A (c) 1-100 A (d) 2-20 A

If FFD is reduced to half of original, the radiographic density will increase
(a) Two times (b) Six times (c) Four times (d) Eight times

Which of the following is not radiation safety device ?
(a) Lead apron (b) Lead goggles (¢) Thyroid shield (d) Cassette protector

Image of fluid containing structure on ultrasound examination appear as :
(a) Black or hyperechoic (b) Black or anechoic
(c) Bright or hyperechoic (d) Bright or anechoic

Intervertebral disc prolapse can be diagnosed by :
(a) Myelography (b) Sialography (c) Plain radiography (d) Ultrasonography

Pre-existing bone conditions such as tumor, osteomyelitis, cyst or osteoporosis may result
in:

(a) Deferred fracture (b) Pathological fracture
(c) Stress fracture (d) Simple single fracture
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Which of the following is not an external fracture fixation method ?
(a) POP cast (b) Intramedullary pinning
(c) Fiber glass cast (d) Thomas splint

Fluorescein dye is commonly used to diagnose :
(a) Conjunctivitis (b) Corneal ulcer (c) Cataract (d) Glaucoma

Constipation, recurrent tympany, brisket edema and abducted elbow in buffalo is indicative
of :

(a) Rumen impaction (b) Foreign body syndrome

(c) Rumen collapse (d) Abomasal displacement

Which of the following is cut/sectioned for surgical correction of upward fixation of patella ?
(a) Middle or cranial pateller ligament (b) Medial pateller ligament
(c) Lateral pateller ligament (d) Lateral collateral ligament

Enlarged Jugular veins, brisket edema, positive wither pinch, grunting while walking and
anorexia in buffalo is indicative of :

(a) Diaphragmatic hernia (b) Traumatic pericarditis

(c) Abomasal displacement (d) Intestinal obstructions

Pipe stem faeces are generally observed due to infection of which of the following parasite ?
(a) Babesia bovis (b) Babesia major (c) Babesia divergens (d) Babesia bigemina

Mischief by killing or laming the animal is punishable under which of the following section
of IPC ?
(a) 420 (b) 427 (c) 428 and 429 (d) 430

Which of the following is dose rate of 10% sodium iodide (I/V) to treat Actinobacillosis in
cattle ?

(a) 1 gm/20 kg B.wt. (b) 1 gm/12 kg B.wt.

(c) 1gm/21 kg B.wt. (d) 1gm/10 kg B.wt.

For which of the following disease of sheep, Faseiliosis may be a predisposing factor for its
occurrence ?

(a) Infectious necrotic hepatitis (b) Malignant oedema

(c) Braxy (d) Enterotoxemia

Button ulcers in colon is characteristic post-mortem finding in which of the following
diseases of swine ?

(a) Classic swine fever (b) Vesicular exanthema in swine

(c) African swine fever (d) FMD in swine

Consolidation of lungs with a typical marbled appearance is characteristic necropsy lesion
of which of the following diseases ?

(a) Pnumonic pasteurellosis (b) Enzootic pneumonia

(c) Contagious bovine pleuro-pneumonia (d) Lungworm pneumonia

Which of the following is the common cause of death in horses in acute form of strangles ?
(a) Cardiac arrest (b) Asphyxia (c) Septicemia (d) Inanition
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Which of the following parasitic infections may occur through colostral transmission ?

(a) Toxocara infection in calves (b) Fasciola infection in lambs

(c) Strongyle infection in foals (d) Amphistomes in kids (Caprine)

Which of the following groups of organism is associated with “Pink eye disease” ?

(a) Bacteria (b) Virus (c) Rickettsia (d) Protozoa

Which of the following disease of horse has venereal transmission ?

(a) Dourine (b) Equine viral Rhinopneumonitis

(c) Equine influenza (d) Equine babesiosis

‘Fistulous wither’ in horses is associated with which of the following disease condition ?
(a) Brucellosis (b) Strangles

(c) Glanders (d) Epizootic Lymphangitis

Which of the following bacterial organism is responsible for fowl cholera in poultry ?
(a) Clostridium botulinum (b) Pasteurella multocida

(c) Salmonella species (d) E.Coli

Biphasic fever is most common clinical finding in dogs in which of the following disease ?
(a) Infectious canine hepatitis (b) Canine distempar

(c) Parvo viral enteritis (d) Leptospirosis

In which body part of a cattle died due to rabies, the ‘negri bodies’ will be looked for ?
(a) Cerebrum (b) Cerebellum (c) Spinal cord (d) Site of dog bite

Nutritional deficiency of which of the following is attributed as a cause of ‘white muscle’
disease in lambs ?

(a) Selenium (b) Phosphorus (c) Magnesium (d) Vitamin-A
Sulphur granules are observed in the pus formed in which of the following disease ?
(a) Actinobacillosis (b) Strangles

(c) Staphylococcal infection in udder (d) Clostridial infection

Marked induration of udder, hypertrophy and enlargement of supra-mammary lymphnodes
in cows are characteristics of which of the following types of mastitis ?

(a) Mycoplasmal mastitis (b) Staphylococcal mastitis
(c) Tuberculous mastitis (d) Coliform mastitis

In which of the following diseases, toxins are secreted in the cows’ milk ?
(a) Aflatoxicosis (b) Black leg (c) Enterotoxemia (d) Tetanus

‘Goose Stepping gait’ in pigs occur due to deficiency of which of the following ?
(a) Thiamine (b) Pantothenic acid (c) Pyridoxine (d) Riboflavin

Garlic like odour in vomits of pigs is observed in poisoning due to :
(a) Urea (b) Phosphorus (c) Copper (d) Nitrate

Normal pH of rumen liquor in cattle range from :
(a) 52-6.2 (b) 6.2-7.2 (c) 7.2-8.2 (d) 42-52

Series-A 12 VSE



70. fr=forRad § oW |1 qRShe EshHOT RIgH % gRI S a1 R ¢
(a) TS T TREThT HhHTT (b) THAT | e HohHoT
(c) 3T¥d Ic| T TATSA Hshul (d) 3T I8 H WHRLE T GehAvT
71.  Frefafed 8 o9 “Temst 337 THE T 1 HNH B 7
(a) ST (b) fersmoy (c) Feehefemm (d) SISHre
72. Trafafaa @ 8 9 @1 U 39e O IH-F=101 g/ hoadr § ?
(a) SHIA (b) SHATE TR U —EHTSRH
(c) FHITSH SHRITSI (d) TS IafGAIfE
73. vl 8 “‘feger faet fre 8 9 forg T <t feafa @ weifea @ 2
(a) SEcAISH (b) =T
(c) i (d) Thfes femh-rfed
74. T=ferfaa @ @ % o1 Sfam] gt § Bee Sioil’ ATeh T o Tshuvl 3l R & 7
(a) FARLITEI STz (b) U HeelfdeT
(c) HTeHNTT STt (d) 3.%TcTTS
75.  va ¥ feyeta ser fre o @ fopm T 61 9@ eries @R g 7
(a) SHiFTIT HaTe fetersien (b) s femerR
(¢) TR IR TeUgied (d) AeHTEUGE
76. Trfefaa # & s’ 6 form s § W&l T ofa wa wesft § aft fave’ S@ S Eshd § ¢
(a) W (b) eeH
(c) TATEA HIS (d) TaT % HTe dTeft Tg |
77.  Trfefaa @ @ foom e i o @ O T ‘vad AiEUst AT BT ?
(a) TATEH (b) BITHH (c) WM (d) feerfim-u
78. =1 4 @ form 1 o HehH O o) HaTE H Ho®Ht U7 <@ ST Hehd @ 7
(a) TR . (b) ®7ed
(¢) T U T LHIZeAThIhel Gl (d) FAEITSIT Tehwor
79. TR WU i M qalg T HIAT WA H HSR &N T a1 AT -T AR T 1 S 7
ST, Tt o @ fope T o SRt T h1 9@ T8I0 R 7
(a) HTSHICATSIHA Y-AeT T (b) WEEABIDH AT UT
(c) TIEHTH YT T (d) I e T
80. f=dafratma i ggd Afea anfaa g 8 ¢
(a) THATSIfREhIfEd (b) AR
(c) TetreTaEifHa (d) feemm
81. Tt o B fonwrehl el oh 0T Y3l "5 <71 =ITet’ & Fehel & 7
(a) g (b) Tt Thre (c) ursfeEifam (d) TsEIRAfeR
82. 3 i Icc! H AAggA el 7741 Tord Torsaraa < 0T § &1 ¥kl @ 7
(a) I (b) BIEHIE (c) T (d) A8
83. TG % U % gd sl A=A pH < HaT gt 2 -
(a) 52-62 (b) 62-7.2 (c) 7.2-82 (d) 42-52
e R — T S




84.

8S.

86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

Repeated administration of isoflupredone acetate to diary cows suffering from bovine
ketosis causes which of the following ?

(a) Hyperkalaemia (b) Hypokalaemia (c¢) Hypernatraemia (d) Hyponatraemia

A characteristic odour is usually detectable in breath and milk in which of the following
disease ?

(a) Ketosis in cows (b) Milk fever in cows

(c) Lactation tetany in cows (d) Post-parturient haemoglobinuera in buffaloes
“Steely Wool” in sheep is characteristic symptom of deficiency of which of the following ?
(a) Cobalt (b) Manganese (c) Copper (d) Iodine

Neonatal hypoglycemia is common in :

(a) Calves (b) Lambs (c) Piglets (d) Puppies
‘Sandpapery’ sound is associated with which of the following ?

(a) wheezes (b) crackles (c) pleuritic friction (d) None of these

The number of days a Swine conceptus takes to enter into uterus after fertilization is :

(a) 2-3 days (b) 4-5days (c) 6-7 days (d) 8-9 days
Which of the following animal has least fertile life of ova ?

(a) Cow (b) Horse (c) Sheep (d) Sow
Diffused placenta is found in

(a) Cow (b) Bitch (c) Sow (d) Doe
Summer anestrus is mainly observed in :

(a) Cow (b) Goat (c) Mare (d) Buffalo
In bulls, normal sperm concentration is :

(a) 400-600 million/ml (b) 800-2000 million/ml

(c) 100-200 million/ml (d) 200-400 million/ml

In cow, ovulation occurs at :
(a) 10-12 hours after onset of estrus (b) 10-12 hours after end of estrus
(c) 10-12 hours before onset of estrus (d) 10-12 hours before end of estrus

In cow, nymphomania condition is observed due to :

(a) Ovarian hypoplasia (b) Follicular cyst

(c) Paraovarian cyst (d) Luteal Cyst

‘Sigmoid flexure’ is located pre-scrotal in :

(a) Bull (b) Boar (c) Ram (d) Stallion

In which of the following condition, animal strain, crouch and showed illness after having a

natural service ?
(a) White heifer disease (b) Uterus unicornis
(c) Freemartin (d) Uterus didelphys
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PSP dye test is used to detect one of the following conditions :

(a) Patency of oviduct (b) Metritis

(c) Ovarian hypoplasea (d) Cervicitis

Earliest pregnancy can be diagnosed in cows by ultrasonography :

(a) 15 days (b) 24 days (c) 35 days (d) 20 days
Perforatorium of sperm cell is formed from :

(a) Acrosome and nuclear membrane (b) Acrosome and plasma membrane
(c) Plasma membrane only (d) Nuclear membrane only

“Red nose” is also known as :

(a) Mycoplasmosis (b) IBR-IPV

(c) Brucellosis (d) BVD

For the treatment of uterine torsion in cow, animal is rotated on :

(a) Same side of torsion

(b) Opposite side of torsion

(c) Depends on health of animal

(d) First rotation on same side of torsion and second opposite side

At which temperature of neck of liquid nitrogen cylinder, the spermatozoa kept in semen
straws are at risk :
(a) —90°C (b) —80°C (c) —100°C (d) —-110°C

In mare, at the time of artificial insemination semen is deposited in :
(a) uterine body (b) cervix (c) vagina (d) uterine horn

In bitch main cause of dystocia is :
(a) Uterine torsion (b) Primary uterine inertia
(c) Secondary uterine inertia (d) Uterine infection

Concentration of glycerol for freezing of boar semen is :

(a) 5% (b) 2% (c) 10% (d) 4%

In mare, shape of the ovaries is :

(a) Almond (b) Oval (¢) Bean (d) Mulberry
In bovine, positive sign of pregnancy is :

(a) Increase in size of uterus (b) Persistence corpus luteum

(c) Slipping of fetal membranes (d) Anestrous

Number and shape of Caruncle in ewe is :

(a) 90— 120, convex (b) 80—90, concave

(c) 80—90, convex (d) 90— 120 concave

In polytocous animal, the weight of each foetus at the time of birth is one of the following
post-partum weight of dams :

(a) 1-3% of dams’ weight (b) 5-8% of dams’ weight
(c) 8-10% of dams’ weight (d) 10-12% of dams’ weight
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104. =] § S THIUH Hd T A STAT 1 3

(a) TR EEH  (b) GlAed T (c) I H (d) U B
105. i § HEFT THG T TG HRU &

(a) TS ST g (b) TV st T Sgar

(c) TSR <l HTE{ie Srgdl (d) TR %1 HehET
106. rorETret <t |igran 3w o 2 o ferfientor 7g T o s St 8

(a) S ufaerd (b) 2 s (¢) 10 wfersra (d) 4 g
107. =€ T S fpT AHR HI B 2 ?

(a) STCH (b) IAUSTHR (c) STy (d) wr&q@
108. T H mfermrer @1 fvad v e A wn g ® ¢

(a) TS o TR T TG (b) I TfEAH T & T
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111. “SIPS” is diagnosed in bitch by presence of cells in uterine cytology

(a) Red blood cells (b) Syncytical trophoblast cells
(c) Cornified cells (d) Neutrophilis
112. Total sperm abnormalities of the semen from a fertile bull should not exceed :
(a) 15% (b) 20% () 5% (d) 10%
113. Collection of mesenteric lymphnode in 10% formol saline is done for the diagnosis of :
(a) John’s disease (b) Leptospirosis
(c) Pasteurellosis (d) Brucellosis

114. Which of the following is associated with a fundamental approach in packaging samples
from animals for the purpose of protecting of samples ?

(a) 2 layers (b) 3 layers (c) 4 layers (d) 5 layers

115. Collection of plants, stomach contents, blood and liver is preserved in 1% solution of
mercuric chloride for the toxicological examination for ?

(a) Strychnine poisoning (b) Nitrate poisoning
(c) HCN poisoning (d) Pesticide poisoning

116. Which of the following chemicals is used for the preservation of urine samples for further
laboratory investigations ?

(a) Benzoic acid (b) Picric acid (c) Citric acid (d) Thymol

117. Wet smears from freshly collected blood are prepared for the diagnosis ?
(a) Anaplasmosis (b) Babesiosis (¢) Trypanosomiasis (d) Theileriosis

118. Increase in which of the following types of cells indicates favourable prognosis in animals ?
(a) Neutrophils (b) Eosinophils (c) Monocytes (d) Lymphocytes

119. An animal presented with which of the following conditions will show an increased level of
serum urea nitrogen and concomitant normal creatinine ?

(a) Renal azotemia (b) Pre-renal azotemia
(c) Post-renal azotemia (d) All of these

120. Which of the following is the gold standard diagnostic procedure for liver disease ?

(a) Liver Function Test (LFT) (b) CT scan
(c) Liver Biopsy (d) Ultrasonography
121. Which of the following arteries is commonly used to record pulse rate in dogs ?
(a) External maxillary artery (b) Facial artery
(c) Middle coccygeal artery (d) Femoral artery

122. Freshly voided proglottids in the feces of sheep, that look like boiled rice grains, belong to
which of the following parasite ?

(a) Echinococcus species (b) Ascarids
(c) Moneizia species (d) Oxyuris species
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The antiemetic effect of metoclopramides is mediated through :
(a) Blockade of D-2 receptors in CTZ

(b) Blockade of D-2 receptors in Stomach

(c) Blockade of D-2 receptor both in CTZ and Stomach

(d) Stimulation of D-2 receptor in CTZ and Stomach

Which of the following is not a tocolytic ?
(a) Clenbuterol (b) Ethanol (c) Terbutaline (d) Ergonovine

Which of the following is a selective drug to reverse xylazine induced respiratory depression ?
(a) Doxapram (b) Nikethamide (c) Bemegride (d) Yohimbine

Among the following which one is a Class-1V antiarrhythmic drug ?
(a) Verapamil (b) Amiodarone (c) Sotelol (d) Procainamide

Warfarin interferes blood clotting by antagonising the function of which type of vitamin ?
(a) Vitamin A (b) Vitamin D (c) Vitamin E (d) Vitamin K

Bracken fern toxicity causes the deficiency of which vitamin in a cow ?
(a) Vitamin B12 (b) Vitamin Bl (c) Vitamin D (d) Vitamin K

Which of the following antibiotics produces its action without affecting the protein synthesis
of bacteria ?

(a) Chloramphenicol (b) Oxytetracycline
(c) Gentamycin (d) Cycloserine

Organophosphate insecticides produce their toxicity by delaying the inactivation of which
of the following neurotransmitter ?

(a) Acetylcholine (b) Epinephrine (c) Serotonin (d) Histamine

Which is the major enzyme inhibited in lead toxicity ?

(a) Delta-Aminolevulinic acid dehydratase

(b) Delta-Aminolevulin acid synthase

(c) Ferrocheletase

(d) Delta-Aminolevulinic acid dehydratase as well as Ferrocheletase

Ratio of LD50 to ED50 (LD50/ED50) is referred as :

(a) Therapeutic index (b) Therapeutic ratio

(c) Safety factor (d) Protective index

Which is not the method of anaerobic bacterial cultivation ?

(a) Candle Jar method (b) Anaerobic Jar method

(c) Cocultivation of aerobic bacteria (d) Incubator shaking method
Which of the following bacterial species exist in free living form in soil ?
(a) Pasteurella species (b) Yersinea species

(c) Clostridium species (d) Staphylococcus species
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(a) FANHABMSA (b) JMfIEEHRT (¢) SeHEaH (d) TR
SFTAIGIERE ShieTereh T 8 fohe =igraiiet i ffssheran w1 fHerfrem ot fosmertar e~ s & 7
(a) TfherThefa (b) THHH (c) HRIFH (d) fewenf

o <t foramerrat ® e f= ® @ & 91 e S1idd grar g ¢

(a) Seel-THHITAgth Tftre Srersges

(b) Seer-Timifagfem tfas fara

ORIUCREEES]

(d) STRT-THAITR T SErgees @ Bifee

132. TA.E. 50 W@ 3.8l 50 (TA.E. 50/3.21. 50) % U bl had &
(a) ITARIH FIAHh (b) SUARIHb AT
(c) G HRH (d) GUEATCH GThTh
133. S & i Shamy gasda 6 fafr 7 2 2
(a) s ST ferfer (b) aTgferEia oI ferfr
(c) Wiferes ST &1 qg-gatq (d) SRE H fgem i fafy
134. Trferfga o @ s = Sfiamo] sefa gt o waaa 9 9 Shifad wdt g 2
(a) ITEGLedT JSATid OERIGERIEELI
(c) wATIfEaH (d) EHEAIBIHY JSTfd
- Dlosming — e




135. Which enzyme is produced by many bacteria that helps in spread of pathogens ?
(a) Peptidase (b) Hyaluronidase (c) Catalase (d) Peroxidase

136. Genetic recombination in bacteria that involves bacteriophages is called :
(a) Transformation (b) Conjugation (c) Transduction (d) Inversion

137. Which is the cause of acute mastitis in cattle ?

(a) Streptococcus pyogenes (b) Streptococcus agalactiae
(c) Streptococcus dusgalactiae (d) Staphylococcus hyicus
138. What is incubation temperature of Listeria monocytogenes to observe tumbling motility ?
(a) 15°C (b) 25°C (c) 4°C (d) 37°C
139. Which is not a characteristic feature of Bacillus anthracis ?
(a) Susceptibility to penicillin (b) Motile
(c) Non-haemolytic (d) Arranged in long chains

140. Which organ of dog is commonly associated with the infection of Malassezia pachydermatis ?
(a) Eye (b) Ear (¢) Throat (d) Intestine

141. Which condition is associated with aflatocicosis ?
(a) Neurotoxicity (b) Pneumonia (c) Hepatotoxicity  (d) Nephrotoxicity

142. What is the typical temperature range used in denaturation step of PCR for DNA ?
(a) 50-70°C (b) 68-75°C (c) 90-96 °C (d) 100-110°C

143. What is the use of BLAST software ?
(a) Comparing DNA sequences with database
(b) DNA sequencing
(c) RNA sequencing
(d) Protein sequencing

144. Which of the following help in opsonization ?
(a) Fibrinogen (b) C-reactive protein (c) Haptoglobulin (d) Ceruloplasmin

145. Where are all undifferentiated lymphocytes formed ?
(a) Bone marrow (b) Thymus (c) Spleen (d) Lymphnode

146. Interferon gamma is produced by which type of cells ?
(a) Th-1 (b) Th-2 (c) B-cells (d) Plasma cells

147. Burkholdermia mallei is a major pathogen of which species of animal ?
(a) Bovine (b) Caprine (c) Ovine (d) Equine

148. Sabin-Feldman dye test is employed for the diagnosis of :
(a) Sarcocystosis (b) Toxoplasmosis  (c) Neosporosis (d) Babesiosis

149. Which of the following is an example of an ornate tick ?
(a) Hyalomma (b) Boophilus (c) Dermacentor (d) Rhipicephalus

150. Transmission of Babesia bigemina in tick vector is :
(a) Transovarian (b) Transtadial (c) Both (a) & (b) (d) None of these
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135. §gd § SHETU[3T gRT 3cTied i |1 T-ITSH & S foh UTTSTehi o THR H G Hidl & 7
(a) Ufees (b) TS (c) e (d) YUfeaes
136. Sframuatt § srgafies qrdaeH for Sehfeitse wftet B, @1 wedm g ?
(a) GREWEIE  (b) HINTIIH (GFE) (c) GHSHM (TRTHA) (d) F=Isi
137. T H TR AT U (ATS(eH) Sh1 hRUT R & 7

(a) WRRIHH TR (b) BRIHHT T
(c) RRIhhd feaiarad (d) REEARHY BTEHH
138. Zsferm mifasfierar st fieror i & T feredifan TiEmsesi-ist & IR w1 auaH R e ?
(a) 15°C (b) 25°C (c) 4°C (d) 37°C
139. i9 o1 foery wveror Sfgferm wafim 1A 2 7
(a) uffafer o afa wegmsfieran (b) =Tt
(c) W-gmfafes (d) ST TEATSH H Haerd
140. T T hIF | T AR TR ATATE iR fiegifed & dshmor 3 18 ?
(a) 3@ (b) HH (c) Tl (d) Atd
141. 19 © feufa urerrerferoeniaa & gefea 8 2
(a) U™ (b) FHIT (c) BUIifaatedt (d) e
142. ST Tk o f.H. 3R, o Toreheliohtor =01 § IUART shi S areft fofrs araae S g ¢
(a) 50-70°C (b) 68-75°C (¢) 90-96 °C (d) 100-110°C

143. AT GG 3T T 1 STAT 8 ?
(a) ST o W1 SITAT FHHT hl T HEAT
(b) ST FLHAT
(c) TR ST
(d) STE SFshHT
144. F=fTRga § 9 wH TS § Hee Hiar e ?
(a) TofsrISH (b) H-fEfFI T (c) T=rAReH (d) TEATATAEA

145, aft srfavfea forrmremges el sd & 2

(a) AT (b) oUTEHE (c) fereett (d) <fepT IS
146. 3THT AT fopH TR shl sifrentati gra fAfifq grar g 2

(a) A TI-1 (b) A TI-2 (c) S-pifrepnd (d) ATSHT-hIFTRTE
147. S@icTsin fers foha ag] Sefori 61 T Tq@ UTieh & ?

(a) TSI (b) AT (c) AT (d) ITea-SITA™

148. Bfs-Shoeha 18 whier feraeh frem & ford fpar s @ 2

(a) TNHIFEIEE (b) TE@AAIGE  (¢) Faerifys (d) safgsnfem
149. fr=ferfiaa & @ 19 & frer smae Aofi § s 2 2

(a) BTZAMT (b) Fipferd (c) SWET (d) Tefufirssera
150. Torett aTEeh H ST STSSITHAT & Hefld T TR R 8 7

(a) TFESAENET  (b) cra&isad (¢) (a)d (b) Tl (d) 31 A ®IE &
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